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A A A A A A A % A % A %
£ E| 560,672 316, 829 243, 843 573, 344 324, 200 249,144 -12,672 -2.2 -1,37 -2.3 -5, 301 -2.1
it i E 19, 324 11, 364 7,960 19, 958 11, 617 8, 341 -634 -3.2 -253 -2.2 -381 -4.6
' # =% 5,070 2,493 2,577 5,308 2,752 2,556 -238 -4.5 -259 -9.4 21 0.8
A F =% 5, 641 2, 864 2,777 5, 800 2, 889 2,911 -159 -2.7 -25 -0.9 -134 -4.6
=) b5 =% 9,275 5,089 4,186 9, 635 5, 364 4,21 -360 -3.7 =275 -5.1 -85 -2.0
E73 H =% 4,237 2,228 2,009 4,491 2,316 2,175 -254 -5.7 -88 -3.8 -166 -1.6
w i =% 4,545 2,198 2,347 4,757 2,363 2,394 =212 -4.5 -165 -1.0 -47 -2.0
1= = =% 7,404 3, 859 3,545 7,592 4,046 3, 546 -188 -2.5 -187 -4.6 -1 0.0
* b5 =8 13, 500 7,592 5,908 13, 702 1,716 5,986 -202 -1.5 -124 -1.6 -718 -1.3
i3 X =8 8, 965 4,890 4,075 9,221 5,089 4,132 -256 -2.8 -199 -3.9 -57 -1.4
icd 5 =8 9,191 4,961 4,230 9,593 5,242 4, 351 -402 -4.2 -281 -5.4 -121 -2.8
1% £ 2 29,133 17,457 11,676 29, 821 17,949 11,872 -688 -2.3 -492 -2.7 -196 -1.7
F 3 =8 24, 336 14, 251 10, 085 24,701 14, 481 10, 220 -365 -1.5 -230 -1.6 -135 -1.3
B = #B 68, 820 38,323 30, 497 69, 337 38, 404 30,933 -517 -0.7 -81 -0.2 -436 -1.4
Mo ) & 34,590 20, 327 14, 263 34,871 20, 314 14, 557 -281 -0.8 13 0.1 -294 -2.0
i = =8 10, 639 5,726 4,913 10, 955 5,963 4,992 -316 -2.9 -237 -4.0 -79 -1.6
5 i} =8 5, 392 2,795 2,597 5,634 2,872 2,762 -242 -4.3 =17 -2.7 -165 -6.0
A" 11| 2 5, 806 3,061 2,745 5,990 3,156 2,834 -184 -3.1 -95 -3.0 -89 -3.1
1B H =8 3,853 2,192 1, 661 3, 883 2,173 1,710 -30 -0.8 19 0.9 -49 -2.9
w B0 =8 4,852 2,702 2,150 5,079 2,783 2,296 =227 -4.5 -81 -2.9 -146 -6.4
-3 54 =8 10, 439 5,695 4,744 10, 832 5, 865 4,967 -393 -3.6 -170 -2.9 -223 -4.5
153 1= =8 8, 627 4,715 3,912 8, 832 4,948 3,884 -205 -2.3 -233 -4.7 28 0.7
B [ =8 16, 525 8,992 7,533 17,181 9,438 7,743 —656 -3.8 -446 -4.7 -210 -2.7
E &0 =8 37, 606 21,578 16, 028 38, 562 22,202 16, 360 -956 -2.5 -624 -2.8 -332 -2.0
= ) 2 7,644 4,266 3,378 7,900 4,313 3, 587 -256 -3.2 -47 -1.1 -209 -5.8
i# g =8 5,769 3,328 2,441 5,959 3,456 2,503 -190 -3.2 -128 -3.7 -62 -2.5
= 8 T 10, 242 6,067 4,175 10, 481 6, 151 4,330 -239 -2.3 -84 -1.4 -155 -3.6
X B T 31, 854 19, 328 12,526 31,224 18, 873 12, 351 630 2.0 455 2.4 175 1.4
= & =8 24, 403 14,374 10, 029 24, 862 14,474 10, 388 -459 -1.8 -100 -0.7 -359 -3.5
Z= B =8 7,189 4,433 2,756 7,295 4,454 2, 841 -106 -1.5 =21 -0.5 -85 -3.0
Moo g 3,924 2,160 1,764 3,985 2,253 1,732 -61 -1.5 -93 4.1 32 1.8
= i1 =8 2,755 1,495 1,260 3,083 1, 669 1,414 -328 -10.6 -174 -10.4 -154 -10.9
5 i) =% 3,384 1,726 1,658 3,434 1,719 1,715 -50 -1.5 7 0.4 -57 -3.3
& i} =% 8,314 4,393 3,921 8,611 4,671 3,940 -297 -3.4 -278 -6.0 -19 -0.5
& 5 =% 14, 479 7,801 6,678 14,872 8,076 6, 796 -393 -2.6 -275 -3.4 -118 -1.7
W a 2 5,314 3,000 2,314 5,637 3,153 2,484 -323 -5.7 -153 -4.9 -170 -6.8
& 5 =% 3, 365 1,817 1,548 3,497 1,902 1,595 -132 -3.8 -85 -4.5 -47 -2.9
F J 2 4, 477 2,375 2,102 4,551 2,494 2,057 -74 -1.6 -119 -4.8 45 2.2
Z 3 =% 6, 260 3,450 2,810 6, 467 3,637 2,830 -207 -3.2 -187 -5.1 -20 -0.7
=) &0 =% 3,089 1,674 1,415 3, 208 1,673 1,535 -119 -3.7 1 0.1 -120 -1.8
1= [ =% 23,7717 13, 334 10, 443 24,044 13, 555 10, 489 -267 -1.1 -221 -1.6 -46 -0.4
& s =% 4, 261 2,392 1,869 4,349 2,434 1,915 -88 -2.0 -42 -1.7 -46 -2.4
£ ] =% 6,129 3,450 2,679 6,470 3, 691 2,779 =341 -5.3 -241 -6.5 -100 -3.6
B X =% 7,596 4,060 3,536 7,663 4,125 3,538 -67 -0.9 —-65 -1.6 -2 -0.1
X o =% 4,209 2,248 1,961 4,441 2,459 1,982 -232 -5.2 =211 -8.6 -21 -1.1
= ] =% 5,020 2,784 2,236 5,176 2,827 2,349 -156 -3.0 -43 -1.5 -113 -4.8
BE R B B 7,632 4,317 3,315 8,070 4,689 3, 381 -438 -5.4 -372 -1.9 -66 -2.0
s i =% 6,376 3,388 2,988 6, 561 3, 405 3,156 -185 -2.8 -17 -0.5 -168 -5.3
?C.'%_ 2= g,z, %= %ﬂ;"' 5, 440 3,817 1,623 5,769 4,105 1, 664 -329 -5.7 -288 -1.0 -41 -2.5




